
 

Facit- og pointfordeling problemregning 2016. 
 

 AEU     
Opga
ve. 

Udregning. Resultat. Point. 

1. 2018 - 20 =  År 1998 3 
2. 1998 + 25 =  År 2023 3 
3. 35.000.000 / 2000 =  17.500 kr. pr. m2 4 
4. (15 / 72) · 100 =  20,83 = 21 % 4 

5. Se millimeterpapir =   4 

6. A = 0,5 · 5 · 52 =  130 cm2 4 

7. A = 0,5 · (60 + 52 ) · 9 =  504 cm2 4 

8. Se millimeterpapir =   5 

9. (50 · 160 · 60 ) / 1000 =  480 l. 4 

10. (400000/(160·60)) =  41,6 = 42 cm. 4 

11. 400 / 16 =  25 spande 4 

12. 97,25 /   =  30,95 = 31 cm. 4 

13. 465937,72+329976,55+164902,57=  
960816,84  · 1000 

 
=960816840 kr. 

4 

14. Se millimeterpapir =   5 

15. 94705 · 0,2973 =  28155,7965 tons 4 

16. 667 · 0,06 =  40,02 kr. 4 

17. (59 · 2) + 75 =  193 ørreder 4 

18. (59 · 8) + 75 =  547 ørreder 4 

19. (724 – 75) / 59 =  11. år 4 

20. 27 · 1,1757 =  83,48 = 83 dyr 4 

    
 


